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Fap(X)= achromatlc receptor response Fap(X)= achromatlc receptor response modified Fap(X)= achromatlc receptor response Fap(X)= achromatlc receptor response modified
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b(Xp)= achromatlc receptor responsek modified (%)= achromatlc receptor response& modified ab(Xr)= achromatlc receptor response modified (%)= achromatlc receptor response& modified
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X =log[L/Ly] |~ 1 X, =log[L/L ]

o(Xp)= achromatlc receptor responsek modified an(Xr)= achromatlc receptor responseX modified 20X )= achromatlc receptor response modified (X, )=achromatic receptor responsek modified

Xr/a_
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=10 =10 =10 =10

al

ndino juud 1o Aejdsip Jo Juswainseaw pue uoleneAs 1o} uoledldde

apuleg-NY

mFru3i=0.66 [MFru4i=0.66 L mFru3i=1.97 mFru4i=1.97 L mFruli=0.99 mFru2i=0.99 L mFruli=2.96 mFru2i=2.96
as=1.0 bs=2.0 bsdas=2.0 5 bs=1.0 bsdas=0.66 as=1.0 bs=2.0 bsdas=2.0
my;=1.97 my,=0.66 my;=1.97

o—W——

9poo :eldrew gNnl

yl

- t t t t -
=log[L/L ] il X, =log[L/L ] i, x, =log[L/L ]
heya0-7a hey40-8a heya1-7a heya1-8a
heya0—7n heyal-7n

TUB-test chart hey4; TUBIJND model of response functiepgx,), and derivatior’ ;%)
Receptor response Y+, and amplitude modulations Y+ & R+'/G—’" (left), Y+ & R+/G— (right)




